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Question Id : 92090628240 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the passage carefully and answer the question that follows:

The island of Bombay was acquired by the East India Company from the British
government in 1668 and was immediately fortified. In Bombay the English found a
large and easy-to-defend port. For that reason, and because English trade was
threatened at the time by the rising Maratha power, Bombay soon superseded Surat
as the headquarters of the Company on the west coast.

In Eastern India, the English Company had opened its first stat factories in Orissa
in 1633. In 1651 it was given permission to trade at Hugli in Bengal. It soon opened
factories at Patna in Bihar, Balasore in Orissa and Dhaka and other places in Bengal.
[t now desired that in Bengal too it should have an independent settlement. It dreamt
of establishing political power in India which would enable it to compel the Mughals to
allow them a free hand in trade, to force Indians to sell cheap, and buy dear, to keep
the rival European traders out and to make its trade independent of the policies for it
to appropriate Indian revenues and thus to conquer the country with its own
resources. Such plans were explicitly put forward at the time. In 1687, the directors
advised the governor of Madras to:

...establish such a policy of civil and military power and create and secure such a
large revenue to maintain both as may be the foundation of a large, well-grounded,
secure English dominion in India for all time to come.

In 1689 they declared:

The increase of our revenue is the subject of our care, as much as our trade: ‘tis that
must maintain our force, when twenty accidents may interrupt our trade; ‘tis that
must make us a nation in India...

Sub questions

Question Number : 1 Question Id : 92090628241 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : In 1687, the directors advised the governor of Madras to:
establish such a policy of civil and military power and create
and secure such a large revenue to maintain both as may be
the foundation of a large, well-grounded, secure English
dominion in India for all time to come.

Statement II : In 1689 they declared: The decrease of our revenue 1s the
subject of our care as much as our trade.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement I and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement [ is true but Statement 11 is false

(4) Statement I is false but Statement 11 is true

Options :

920906111601. 1
920906111602. 2
920906111603. 3
920906111604. 4

Question Number : 2 Question Id : 92090628242 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks from the options given below :

English trade was threatened at the time by the rising power, Bombay
soon superseded as the headquarters of the company on the west coast.
(1) Maratha, Pune (2) Bengali, Hugh
(3) Mughal, Surat (4) Maratha, Surat
Options :

920906111605. 1
920906111606. 2
920906111607. 3
920906111608. 4

Question Number : 3 Question Id : 92090628243 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find out one word for the following phrase :

‘Provide with defensive works as protection against attack’

(1) Fence (2) Fortify
(3 Bridge (4) Foster
Options :

920906111609. 1
920906111610. 2
920906111611. 3
920906111612. 4

Question Number : 4 Question Id : 92090628244 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Where did the East India Company open its first factories in eastern India?

(1) Assam (2) Hughi
(3)  Orissa (4) West Bengal
Options :

920906111613. 1
920906111614. 2
920906111615. 3
920906111616. 4

Question Number : 5 Question Id : 92090628245 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Why did the East India Company fortify the Bombay island immediately after
acquiring from British government?

(1)  Because of rising Mughal Power (2) Because of rising Maratha Power

(3)  Because of nsing Rajput Power (4) Because of nsing Swaraj Power

Options :

920906111617. 1
920906111618. 2
920906111619. 3



920906111620. 4

Question Id : 92090628240 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the passage carefully and answer the question that follows:

The island of Bombay was acquired by the East India Company from the British
government in 1668 and was immediately fortified. In Bombay the English found a
large and easy-to-defend port. For that reason, and because English trade was
threatened at the time by the rising Maratha power, Bombay soon superseded Surat
as the headquarters of the Company on the west coast.

In Eastern India, the English Company had opened its first stat factories in Orissa
in 1633. In 1651 it was given permission to trade at Hugli in Bengal. It soon opened
factories at Patna in Bihar, Balasore in Orissa and Dhaka and other places in Bengal.
[t now desired that in Bengal too it should have an independent settlement. It dreamt
of establishing political power in India which would enable it to compel the Mughals to
allow them a free hand in trade, to force Indians to sell cheap, and buy dear, to keep
the rival European traders out and to make its trade independent of the policies for it
to appropriate Indian revenues and thus to conquer the country with its own
resources. Such plans were explicitly put forward at the time. In 1687, the directors
advised the governor of Madras to:

...establish such a policy of civil and military power and create and secure such a
large revenue to maintain both as may be the foundation of a large, well-grounded,
secure English dominion in India for all time to come.

In 1689 they declared:

The increase of our revenue 1s the subject of our care, as much as our trade: ‘tis that
must maintain our force, when twenty accidents may interrupt our trade; ‘tis that
must make us a nation in India...

Sub questions

Question Number : 1 Question Id : 92090628241 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : In 1687, the directors advised the governor of Madras to:
establish such a policy of civil and military power and create
and secure such a large revenue to maintain both as may be
the foundation of a large, well-grounded, secure English
dominion in India for all time to come.

Statement II : In 1689 they declared: The decrease of our revenue 1s the
subject of our care as much as our trade.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement I and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement [ is true but Statement 11 is false

(4) Statement I is false but Statement 11 is true

Options :

920906111601. 1
920906111602. 2
920906111603. 3
920906111604. 4

Question Number : 2 Question Id : 92090628242 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks from the options given below :

English trade was threatened at the time by the rising power, Bombay
soon superseded as the headquarters of the company on the west coast.
(1) Maratha, Pune (2) Bengali, Hugh
(3) Mughal, Surat (4) Maratha, Surat
Options :

920906111605. 1
920906111606. 2
920906111607. 3
920906111608. 4

Question Number : 3 Question Id : 92090628243 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find out one word for the following phrase :

‘Provide with defensive works as protection against attack’

(1) Fence (2) Fortify
(3 Bridge (4) Foster
Options :

920906111609. 1
920906111610. 2
920906111611. 3
920906111612. 4

Question Number : 4 Question Id : 92090628244 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Where did the East India Company open its first factories in eastern India?

(1) Assam (2) Hughi
(3)  Orissa (4) West Bengal
Options :

920906111613. 1
920906111614. 2
920906111615. 3
920906111616. 4

Question Number : 5 Question Id : 92090628245 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Why did the East India Company fortify the Bombay island immediately after
acquiring from British government?

(1)  Because of rising Mughal Power (2) Because of rising Maratha Power

(3)  Because of nsing Rajput Power (4) Because of nsing Swaraj Power

Options :

920906111617. 1
920906111618. 2
920906111619. 3



920906111620. 4

Sub-Section Number : 2
Sub-Section Id : 920906905
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090628246 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the options given below:

Directive principles of state policy are the form instructions /
guidelines the governments the center.
(1) in, of, to, at (2) 1in, with, for, at
(3) in, at, with, for (4) 1in, for, by, at
Options :

920906111621. 1
920906111622. 2
920906111623. 3
920906111624. 4

Question Number : 6 Question Id : 92090628246 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the options given below:

Directive principles of state policy are the form instructions /
guidelines the governments the center.
(1) in, of, to, at (2) 1in, with, for, at
(3) in, at, with, for (4) 1n, for, by, at
Options :

920906111621. 1
920906111622. 2
920906111623. 3
920906111624. 4

Question Number : 7 Question Id : 92090628247 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT :

(4)
(B)
(©)
(D)

List I (Word)

Elevated (D
Dubious (II)
Efficacy (I11)
Disavow (IV)

List II (Synonym)
Promoted
Potence

Unclear

Refuse

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

(A)-(ID, (B)-(I), (C)-I1), (D)-(IV)
(A)-(D), (B)-(11L), (C)-(1L), (D)-(IV)
(A)-(IV), (B)-(ID), (C)-(I), (D)-(I1T)
(A)-(I1D), (B)-(D), (C)-(1D), (D)-(1V)

Options :

920906111625. 1
920906111626. 2
920906111627. 3
920906111628. 4

Question Number : 7 Question Id : 92090628247 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List I1 :

List I (Word)
(A) Elevated @D
(B) Dubious (1)
(C) Efficacy (I11)
(Dy Disavow (IV)

List II (Synonym)
Promoted
Potence

Unclear

Refuse

Choose the correct answer from the options given below:

(1)

(2)

(3)

(4)
Options :
92090611
92090611

(A)-(II), (B)-(1), (C)-(I1L), (D)-(IV)
(A)-(D), (B)-(I1D), (C)-(ID), (D)-(1V)
(A)-(IV), (B)-(ID), (C)-(I), (D)-(I1T)
(A)-(IID), (B)-(D), (C)-(ID), (D)-1V)

1625. 1
1626.2



920906111627. 3
920906111628. 4

Question Number : 8 Question Id : 92090628248 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mateh List I with List I1 :

List I (Word) List Il (Antonym)
(A) Fertile (I) Final
(B) Gloomy (I) Barren
(C) Refusal (III) Cheerful
(D) Preliminary (IV) Consent

Choose the correct answer from the options given below:

(1) (A)-AD), (B)-(I1), (C)-(IV), (D)-(I)
2  @-O, (B)-AD, (C)-(1ID), (D)-(IV)
(3)  (A)-(ID), (B)-), (C)-(IV), (D)-(1L)
(4)  (A)-ID), B)-(D), (C)-@V), (D)-(I1I)

Options :

920906111629. 1
920906111630. 2
920906111631. 3
920906111632. 4

Question Number : 8 Question Id : 92090628248 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mateh List I with List I1 :

List I (Word) List II (Antonym)
(A) Fertile (I) Final
(B) Gloomy (I) Barren
(C) Refusal (I1I) Cheerful
(D) Preliminary (IV) Consent

Choose the correct answer from the options given below:

(1) (A)-AD), (B)-(I1), (C)-(IV), (D)-(I)
2  @-O, (B)-AD, (C)-(1ID), (D)-(IV)
(3)  (A)-(ID), (B)-), (C)-(IV), (D)-(1L)
(4)  (A)-ID), B)-(D), (C)-@V), (D)-(I1I)

Options :

920906111629. 1
920906111630. 2
920906111631. 3
920906111632. 4

Question Number : 9 Question Id : 92090628249 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One word substitution

The scientific study of the moon :

(1)  Ontology (2) Selenology
(3)  Oncology (4) Astrology

Options :

920906111633. 1
920906111634. 2
920906111635. 3
920906111636. 4

Question Number : 9 Question Id : 92090628249 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



One word substitution

The scientifie study of the moon :

(1) Ontology (2) Selenology
(3) Oncology (4) Astrology
Options :

920906111633. 1
920906111634. 2
920906111635. 3
920906111636. 4

Question Number : 10 Question Id : 92090628250 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find out the correct spelling :

“Excessive self eriticism”

(1) Self — Flagelasion (2) Slef - Flagilation
(3) Self — Flagellation (4) Self — Flegalation
Options :

920906111637. 1
920906111638. 2
920906111639. 3
920906111640. 4

Question Number : 10 Question Id : 92090628250 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find out the correct spelling :

“Excessive self eriticism”

(1) Self — Flagelasion (2) Slef - Flagilation
(3) Self — Flagellation (4) Self — Flegalation
Options :

920906111637. 1
920906111638. 2
920906111639. 3



920906111640. 4

Question Number : 11 Question Id : 92090628251 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ratio of the sum of two numbers and their difference i1z 3:2. The ratio of the
greater number to the smaller number is :

1y 2:3 @y 3125
(3) 565:1 4 2:1
Options :

920906111641. 1
920906111642. 2
920906111643. 3
920906111644. 4

Question Number : 11 Question Id : 92090628251 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ratio of the sum of two numbers and their difference is 3:2. The ratio of the
greater number to the smaller number is :

1y =2:3 @y 125
3y 5:1 4 2:1
Options :

920906111641. 1
920906111642. 2
920906111643. 3
920906111644. 4

Question Number : 12 Question Id : 92090628252 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A certain sum of money on compound interest amounts to 31,440 and 31,728 after two
years and three years respectively. Find the rate of interest per annum.

(1) 5% (2) 10%
(3) 12% (4) 20%



Options :

920906111645. 1
920906111646. 2
920906111647. 3
920906111648. 4

Question Number : 12 Question Id : 92090628252 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A certain sum of money on compound interest amounts to 1,440 and 31,728 after two
yvears and three years respectively. Find the rate of interest per annum.

(1) 5% (2) 10%
(3) 12% (4) 20%

Options :

920906111645.
920906111646.
920906111647.
920906111648.

W N =

Question Number : 13 Question Id : 92090628253 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Kaushal travelled for 2 hours 15 minutes at the speed of 40 km/h. At what speed
should he travel to cover the same distance in 2 hours?

(1) 48 km/h (2) 45 km/h
(3) 44 km/h (4) 48.5 km/h
Options :

920906111649. 1
920906111650. 2
920906111651. 3
920906111652. 4

Question Number : 13 Question Id : 92090628253 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Kaushal travelled for 2 hours 15 minutes at the speed of 40 km/h. At what speed
should he travel to cover the same distance in 2 hours?

(1) 48 km/h (2) 45 km/h
(3) 44 km/h (4) 48.5 km/h
Options :

920906111649. 1
920906111650. 2
920906111651. 3
920906111652. 4

Question Number : 14 Question Id : 92090628254 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A and B started a business by investing ¥48,000 and ¥60,000 respectively. At the end
of the yvear B received 310,000 more than A as his share in the profit. Find the total
profit.

(1) 398,600 (2) 95,500
(3) 94,000 (4) 90,000
Options :

920906111653. 1
920906111654. 2
920906111655. 3
920906111656. 4

Question Number : 14 Question Id : 92090628254 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A and B started a business by investing ¥48,000 and 60,000 respectively. At the end
of the year B received 10,000 more than A as his share in the profit. Find the total
profit.

(1) 398,600 (2) 95,500
(3) 394,000 (4) 90,000
Options :

920906111653. 1
920906111654. 2



920906111655. 3
920906111656. 4

Question Number : 15 Question Id : 92090628255 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Six years ago Shanti’s age was 7 times the age of her only daughter. After 6 years
from now her age will be 3 times the age of her daughter. Find the present age of her
daughter.

(1) 10 years (2) 11 years
(3) 12 years (4) 13 years
Options :

920906111657. 1
920906111658. 2
920906111659. 3
920906111660. 4

Question Number : 15 Question Id : 92090628255 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Six yvears ago Shanti’s age was 7 times the age of her only daughter. After 6 vears
from now her age will be 3 times the age of her daughter. Find the present age of her
daughter.

(1) 10 yvears (2) 11 years
(3) 12 years (4) 13 vears
Options :

920906111657. 1
920906111658. 2
920906111659. 3
920906111660. 4

Question Number : 16 Question Id : 92090628256 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the time between 3 and 4 (O elock at which the minute hand and the hour hand
overlap.

(1) ‘Iﬁi min past 3 2y 11 —SH min past 3
1 16
4 . . 2
(3) 16— min past 4 (1) 4— min past 4
1 | 16
Options :

920906111661. 1
920906111662. 2
920906111663. 3
920906111664. 4

Question Number : 16 Question Id : 92090628256 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the time between 3 and 4 O clock at which the minute hand and the hour hand
overlap.

(1) ‘IEi min past 3 2y 11 —SH min past 3
11 16
4 i 1 S
(3) 16 — min past 4 (4) 4— min past 4
11 16
Options :

920906111661. 1
920906111662. 2
920906111663. 3
920906111664. 4

Question Number : 17 Question Id : 92090628257 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find the missing term in the following series :
2.1,2,4,.4,5.6.7.8, 8, 10,11, 7%

(1) 11 2) 12
(3) 10 4 8



Options :

920906111665. 1
920906111666. 2
920906111667. 3
920906111668. 4

Question Number : 17 Question Id : 92090628257 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find the missing term in the following series :

2,1,2.4.4,5,.6,.7,8,8,10,11,?

(B Il (& 12
(3) 10 4) 8
Options :

920906111665. 1
920906111666. 2
920906111667. 3
920906111668. 4

Question Number : 18 Question Id : 92090628258 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rajesh ranks eighteenth from the top in a class. What 1s his rank from the last?

Statement [:  there are 47 students in the class.

Statement II: Nitin, who ranks 10t in the same class, ranks 38th from the last.
Choose the correct answer from the following:

(1) Data in Statement I alone is sufficient to answer the question.

(2) Data either in Statement 1 alone or in Statement Il alone is sufficient to
answer the question.

(3) Data given in both Statements | and Il together is not sufficient to answer the
question.

(4) Data in Statement II alone is sufficient to answer the question.

Options :
920906111669. 1



920906111670. 2
920906111671. 3
920906111672. 4

Question Number : 18 Question Id : 92090628258 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rajesh ranks eighteenth from the top in a class. What is his rank from the last?

Statement I:  there are 47 students in the class.

Statement II: Nitin, who ranks 10t in the same class, ranks 38th from the last.
Choose the correct answer from the following:

(1) Data in Statement I alone is sufficient to answer the question.

(2) Data either in Statement I alone or in Statement Il alone is sufficient to
answer the question.

(3) Data given in both Statements [ and Il together is not sufficient to answer the
question.

(4) Data in Statement II alone is sufficient to answer the question.

Options :

920906111669. 1
920906111670. 2
920906111671. 3
920906111672. 4

Question Number : 19 Question Id : 92090628259 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify which one of the following pattern resembles when the transparent sheet is
folded along the dotted line.

\4

> 1O
Problem figure (x)
(1) @ (2) @
® @
(3) @ (4) @
@ ®
Options :

920906111673. 1
920906111674. 2
920906111675. 3
920906111676. 4

Question Number : 19 Question Id : 92090628259 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify which one of the following pattern resembles when the transparent sheet is
folded along the dotted line.

v

DEO

Problem figure (x)

(1) (2)

(3) (4)

@@ ©®

SISSIS,

Options :

920906111673. 1
920906111674. 2
920906111675. 3
920906111676. 4

Question Number : 20 Question Id : 92090628260 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Five children were administered psychological tests to know their intellectual levels.
In the report, psyvchologists pointed out that the child A is less intelligent than the
child B. The child C is less intelligent them the child D. The child B 1s less intelligent
than the child C and the child A is more intelligent than child E. Which child is most
intelligent?

(1) A (2) B
@ D (4 C
Options :

920906111677. 1
920906111678. 2
920906111679. 3
920906111680. 4



Question Number : 20 Question Id : 92090628260 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Five children were administered psychological tests to know their intellectual levels.
In the report, psychologists pointed out that the child A is less intelligent than the
child B. The child C is less intelligent them the child D. The child B is less intelligent
than the child C and the child A is more intelligent than child E. Which child 15 most
intelligent?

(1 A (2) B
@ D 4) C
Options :

920906111677. 1
920906111678. 2
920906111679. 3
920906111680. 4

Question Number : 21 Question Id : 92090628261 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List 11 :

List I (Important Days) List IT (Date)
(A) Indian Army Day () 05 June
(B) National Science Day (II) 15 January

(C) World Environment Day  (III) 28 February
(D) International Yoga Day (IV)y 21 June

Choose the correct answer from the options given below:

(1) (A)-ID, (B)-(ID), (C)-(IV), (D)-(D
2 (A)-aD), B)-(1D), (C)-(I), (D)-(IV)
3 (WD, (B)-ID, (C)-(I), (D)-(IV)
@) A)-ID, (B)-(), (C)-(1IL), (D)-(IV)

Options :

920906111681. 1
920906111682. 2
920906111683. 3



920906111684. 4

Question Number : 21 Question Id : 92090628261 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Matech List I with List I1 :

List I (Important Days) List IT (Date)
(A) Indian Army Day (D 05 June
(B) National Science Day (II) 15 January

(C) World Environment Day  (III) 28 February
(D) International Yoga Day (TV) 21 June

Choose the correct answer from the options given below:

(1) (A)-aD, B)-(I1D), (C)-IV), D)-(I)
(2)  (A)-(ID, (B)-ID), (C)-(D), (D)-(IV)
3 A1), (B)-ID), (C)-(I), (D)-(IV)
@) A)-ID, (B)-(D), (C)-(1ID), (D)-(IV)

Options :

920906111681. 1
920906111682. 2
920906111683. 3
920906111684. 4

Question Number : 22 Question Id : 92090628262 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tulsidas composed his ‘Ramcharitmanasa’ in the reign of

(1) Babur (2) Akbar
(3) Aurangzeb (4) Bahadur Shah Zafar

Options :

920906111685. 1
920906111686. 2
920906111687. 3
920906111688. 4



Question Number : 22 Question Id : 92090628262 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tulsidas composed his ‘Ramcharitmanasa’ in the reign of

(1) Babur (2) Akbar
(3) Aurangzeb (4) Bahadur Shah Zafar
Options :

920906111685. 1
920906111686. 2
920906111687. 3
920906111688. 4

Question Number : 23 Question Id : 92090628263 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Renewable resources are available in limited quantity and
end, after a limited period of time if used excessively.

Statement II : Renewable resources are coal, petroleum etc.

In the light of the ahove statements, choose the correct answer from the options
given below

(1) Both Statement [ and Statement 11 are true.

(2) Both Statement [ and Statement Il are false.

(3) Statement [ is true but Statement Il is false.
(4) Statement [ is false but Statement 11 is true.
Options :

920906111689. 1
920906111690. 2
920906111691. 3
920906111692. 4

Question Number : 23 Question Id : 92090628263 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Renewable resources are available in limited quantity and
end, after a limited period of time if used excessively.

Statement II : Renewable resources are coal, petroleum etc.

In the light of the above statements, choose the correct answer from the options
given below

(1) Both Statement [ and Statement 11 are true.

(2) Both Statement [ and Statement Il are false.

(3) Statement [ is true but Statement Il is false.
(4) Statement [ is false but Statement 11 is true.
Options :

920906111689. 1
920906111690. 2
920906111691. 3
920906111692. 4

Question Number : 24 Question Id : 92090628264 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many Articles are there in the Indian Constitution?

(1) 395 (2) 396
(3) 398 (4) 399
Options :

920906111693. 1
920906111694. 2
920906111695. 3
920906111696. 4

Question Number : 24 Question Id : 92090628264 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many Articles are there in the Indian Constitution?

(1) 395 (2) 396
(3) 398 (4) 399
Options :

920906111693. 1
920906111694. 2
920906111695. 3
920906111696. 4

Question Number : 25 Question Id : 92090628265 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are true for income tax in India?

A It 15 a progressive tax
B. It is a direct tax
. It is collected by the State governments

It is proportional tax

(1) only A (2) only Aand B
(3 only A, Band C (4) only B,CandD
Options :

920906111697. 1
920906111698. 2
920906111699. 3
920906111700. 4

Question Number : 25 Question Id : 92090628265 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are true for income tax in India?

A, It is a progressive tax
B. It is a direct tax
L. It is collected by the State governments
D. It is proportional tax
(1) only A (2) only Aand B
(3) only A, B and C (4) onlyB,CandD
Options :

920906111697. 1
920906111698. 2
920906111699. 3
920906111700. 4

Part B: Horticulture

Section Id : 920906560
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906906
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090628266 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



While doing Benthic Marine surveys of sampling units following are employed by
biologists :

1. Hypotenuse

2. Semi-Circles
3. Line
4. Square quadrant

Options :

920906111701. 1
920906111702. 2
920906111703. 3
920906111704. 4

Question Number : 26 Question Id : 92090628266 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sfeer 8 Faem § yftes 98 wdem F4 gu S S Feafafas = wm ww § -

(1) =i (2) #4 gea
3 @ C
Options :

920906111701. 1
920906111702. 2
920906111703. 3
920906111704. 4

Question Number : 27 Question Id : 92090628267 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Plants or animals in any geographical area are scattered in which of the following
spatial patterns :

1 Unilateral

2. Basic

3. Critical

4. Random
Options :

920906111705. 1
920906111706. 2
920906111707. 3
920906111708. 4

Question Number : 27 Question Id : 92090628267 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tt Ariifer sy © fawga W19 ve g fefafaa 4 9 e v gfosy § 98 9 & :-

(1) U& qmal (2) 7
(3) whifdeh (4) Hfafam
Options :

920906111705. 1
920906111706. 2
920906111707. 3
920906111708. 4

Question Number : 28 Question Id : 92090628268 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Aerial transect sampling, aerial quadrant sampling and aerial
block sampling are three basic types of aerial surveys,
however they differ greatly in practical application.

Reason (R) : The reasons for differences in three types of aerial sampling
is due to cost, navigation, boundary effects, counting, sample
error, fatigue, etc.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

920906111709. 1
920906111710. 2
920906111711. 3
920906111712. 4

Question Number : 28 Question Id : 92090628268 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= & YA fGu T E ;v wfEuE (Assertion (A)) F ¥4 § fofEd @ 91 gE0 396 w0
(Reasons (R)) HEITH :

AiFeH (A):  THEE FEEU YEa: o TR F B & - dEE g TR, e
I UIE TR0 UF S TEUE AR, FEi a8 dH Wi €9 5
CEGREER]

A (R) : a1 9 i Tfime dufem § fimar &1 $Rw =59, g9, 9 g9,
AT, FEAT AR, Y SIS 2

ITE HYF & AT 1, Jid feu v fasmedi § @ "7 I @ =94 Fifau

(1) (A) 3R (R) T &9 & 3R (R), (A) 1 @& =9m=n &

(2)  (A) 3R (R) §HI & &, w6 (R), (A) I w& =amen 94 8
(3) (A)FH &, o (R) 318 8

(4)  (A) I35 &, dfT (R) T 2

Options :

920906111709. 1
920906111710. 2
920906111711. 3
920906111712. 4

Question Number : 29 Question Id : 92090628269 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are correct?

A. Tolstoy (1984) suggested that area of 0.25 m? was best for Marine Benthic
organisms and less than 25% studies were carried out using optimal sized
quadrant.

B. Pringle (1984) suggested that there is not one universal best quadrant size.
His recommendations are both area and species specific.

C. Statistically that quadrant size and shape giving highest statistical precision
for a given total area sampled or for given total amount of time or money
may be considered best.

D. Ecologically that quadrant size and shape that are most efficient to answer
the question being asked will be considered best.

E. Logistically that quadrant size and shape that are easiest to put out and use
will be considered best.

Choose the most appropriate answer from the options given below :

1. A,Bonly

2. A, B, Conly

3. AB,C,Donly

4. B,C,D, Eonly
Options :

920906111713. 1
920906111714. 2
920906111715. 3
920906111716. 4

Question Number : 29 Question Id : 92090628269 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frefefaa & & =9 =1 w97 98 8 -

(A) =T (1984) AT THY HFER §04 d@fys FE % fou 0.25 m? Sawd gaifas
39T & U9 39990 HHR % gad gl 25% § FH FEAA fh T E |

(B) Trer (1984) 4 "amn fo s & G Hailys I FHR FH 99 48l 2l IH
qoa &7 Ud wia fae % aEn #

(C) HifeTh & ITHR 98 9aq AR U9 YR it 3999 & 9 6 Gy v Fqa1 &4
a1 feu T §E wE U9 o folu #Eitye difegehd g & 3HER 8|

(D) Ol % FTER 98 Jad ATHR U9 YHR I9GFd & A o IS T Ge=] & JqEf

I
(E) @=eifes & STEN 98 gaq SHR & SR qaitvs T & G 3w o s
FAT ATEH &l |
= feu o famhedl 4 8 HaH I9YE I B F94 Hitag
(1) Ad (A). (B) (2) A (A), (B), (O)
(3) = (A), (B), (0). (D) (4) 9 (B), (C), (D). (E)
Options :

920906111713. 1
920906111714. 2
920906111715. 3
920906111716. 4

Question Number : 30 Question Id : 92090628270 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—!| : In statistics, the universe of items out of study is called

statistical population.

Statement—Il :  In ecology, a population is defined as group of organisms of

the species living in a particular area at a particular time. It is
known as biological population.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both Statement | and Statement Il are correct
2 Both Statement | and Statement |l are incorrect
3 Statement | is correct but Statement Il is incorrect

4.  Statement | is incorrect but Statement |l is correct

Options :

920906111717. 1
920906111718. 2
920906111719. 3
920906111720. 4

Question Number : 30 Question Id : 92090628270 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= gt e fgm T R

FYH1:  HifeasE T 99 &3 & 918 Hel i AeTha SHae Fad &
Fy 11: aridfesfadt § ve 999 § v 99w (vfEn) O 84 9 U A1 & Sfidl % 99 H

“EET gitatya ferem man 21 g8 Sfas 9w & 9w 9 ot 59 9 8

ITE FY & A °, {9 feu T fgFedi § ¥ F9H I I H 991 FHI

(1)
(2)
(3)
(4)

HYF 1 AT [ 2HT 981 &
HUF 1 3R 12T 7o &

HUF [ 981 8, oifehd %29 17T &
FYF 17T 2, il FoA 11 58 8

Options :
920906111717. 1



920906111718. 2
920906111719. 3
920906111720. 4

Question Number : 31 Question Id : 92090628271 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Line intercept method is a general procedure that can be applied to

g Temperature measurement

2.  Colour of lakes

3. Species of squirrels

4. Estimate the cover of tree or shrub canopies
Options :

920906111721. 1
920906111722.2
920906111723. 3
920906111724. 4

Question Number : 31 Question Id : 92090628271 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@] F-Evs YITe! Uk A iR @ e wam f=fefae § e e -

(1)  ¥T9EE "

(2) UF Aifers @ | s (S #am

(3) Tirerel it gefd

(4) 39 I v e o (Fam) FArd 1 ogEe @ F fae

Options :

920906111721. 1
920906111722. 2
920906111723. 3
920906111724. 4

Question Number : 32 Question Id : 92090628272 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement—| : Myosins are proteins that have the ability to hydrolyze ATP
to ADP and Pi when activated by binding to an actin
microfilament.

Statement—Il : Cytoplasmic streaming is the coordinated movement of
particles and organelles through the cytosol in a helical path
down the side of a cell and up the other side.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect

4.  Statement | is incorrect but Statement Il is correct
Options :
920906111725. 1
920906111726. 2
920906111727. 3
920906111728. 4

Question Number : 32 Question Id : 92090628272 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R FEfem .
FY9 1 HEEE 98 99F & 5t ATP %1 ADP w8 Pi § Seiemuiea 3 6 guar & 99

a8 ufFeq urgwifhame @ wfa g framsfiar @t 2

FoA 11 : A S o vg Fifm &1 Fungsr § g gy § Fiftm %

= vd s it feen # v waf=a wfes G 21

ITF FU9 & A °, T By T fwedt § @ w8 3w I 95w fife

(1)
(2)
(3)
(4)

Options :

U [ 3R 11 31 @&t 2
w1 3R 11 31 Terd 8
Fud [ w8 2, dfsha e 11 7ea 8
%94 [ 7o 8, ot %99 [ T8 8

920906111725. 1
920906111726. 2
920906111727. 3
920906111728. 4

Question Number : 33 Question Id : 92090628273 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Starch consists of a mixture of two different types of molecules : amylose which
is a long chain of glucose atoms joined by «-1, 4 linkages and amylopectin which

consists of a mixture of a-1, 4 links with occasional  branches.
1. a-1, 2
2 a-1,4
3 o-1, 6
4. «w-1,8
Options :

920906111729. 1
920906111730. 2
920906111731. 3
920906111732. 4



Question Number : 33 Question Id : 92090628273 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

w2 2t i syt @ fasmn 2 - smse St o -1, 4 R A e et it Al gEen @

T sEEtF o fF «-1, 4 el qu sfafe st 1 o 2
(5 .a-1.9 (2) a-1,4

(3 a-1,86 4 «-1,8

Options :

920906111729. 1
920906111730. 2
920906111731. 3
920906111732. 4

Question Number : 34 Question Id : 92090628274 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Terpenes and sterols are related compounds which are constructed from
carbon building block isoprene.

1.  Four(4)

2. Five(5)

3. Six(6)

4. Seven(7)
Options :

920906111733. 1
920906111734. 2
920906111735.3
920906111736. 4

Question Number : 34 Question Id : 92090628274 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ardt 21

(1) =) (2) 94 (5)
(3 ©:(6) (4) H1a(7)
Options :

920906111733. 1
920906111734. 2
920906111735.3
920906111736. 4

Question Number : 35 Question Id : 92090628275 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Casparian strip is a band of radial cell wallsinthe ______ that is impregnated
with the wax like hydrophobic substance suberin.
1. Epidermis
2. Exodermis
3. Endodermis
4. Cuticle
Options :

920906111737. 1
920906111738. 2
920906111739. 3
920906111740. 4

Question Number : 35 Question Id : 92090628275 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fof v s e fivd e T i T fm 2 3 9 Jordiet 9m
S UgY el g SAadiE 2

(1) T8l o= (2) ETEl g o=

(3)  FoEE (4) Iea

Options :

920906111737. 1



920906111738. 2
920906111739. 3
920906111740. 4

Question Number : 36 Question Id : 92090628276 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The redox reactions of the electron transport chain and the synthesis of ATP are
collectively called

1.  Fast phosphorylation
2.  Oxidative phosphorylation
3. Reductive phosphorylation

4.  Oxidative phosphogenesis

Options :

920906111741. 1
920906111742. 2
920906111743. 3
920906111744. 4

Question Number : 36 Question Id : 92090628276 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-

TodeE UREEd 9 (J@en) & (E@9 AfMd T ATP H¥oNv ® @HG &9 #

ﬂﬁ%g:-
(1) 3" wiEmifcesm (2) AR Biehiffersro
(3) AT BRI (4) HATHITHIOT RIS

Options :

920906111741. 1
920906111742.2
920906111743. 3
920906111744. 4

Question Number : 37 Question Id : 92090628277 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : C,plants are able to photosynthesize more efficiently at high
temperature than C4 plants.

Reason (R) :  High activity of PEP carboxylase enables Cs plants to reduce
stomatal aperture and there is suppression of

photorespiration resulting from concentration of COs in
bundle sheath cells.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation
of (A)

3.  (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

920906111745. 1
920906111746. 2
920906111747. 3
920906111748. 4

Question Number : 37 Question Id : 92090628277 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



d9 &1 wem fou mu # : uF sifimeR (Assertion (A) % w9 § fofigd 2 @t g0 3@ Fww
(Reasons {R)}%Eﬂlﬁ:

ARy (A): C4 919 €3 qgi ft smen s TomE W U gveme sAfus e
(ufpfEt) & @1 a9 21

F107 (R) : Y g i i Gramsfiemr C4 991 & ity ZaE S F4 S 8
wa w5 Ty FfEe § sfts e SE-AEEEs 9 F S0 T
Y94 FH B 2

I9URE U % Aol |, A= few e fereat § @ w6 3w o =99 Fifen

(1) () 3 R)IH T £ 3R (R), (A) F TE =0E"n 2

@) (A) 3R (R) 2T w1 &, 3FF R), (A) i 58 =men 74 2
(3) (A)®eT 2, o (R) 98 2

(1) (A) 3@ 2, dfF R) 8 2

Options :

920906111745. 1
920906111746. 2
920906111747. 3
920906111748. 4

Question Number : 38 Question Id : 92090628278 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Phaeophytin is a chlorophyll in which the central atom has been replaced
by two hydrogen atoms.

1. Calcium
2. Magnesium
3. Manganese

4. Potassium

Options :
920906111749. 1
920906111750. 2



920906111751. 3
920906111752. 4

Question Number : 38 Question Id : 92090628278 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el = y=wn = Fonifea 2 e FEI WH] 3 EESIeH WHISA
g HeuTia € -

(1) SHfcem (2) AfiEm

(3) T (4) drfiEm

Options :

920906111749. 1
920906111750. 2
920906111751. 3
920906111752. 4

Question Number : 39 Question Id : 92090628279 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The following are the steps of Calvin cycle. What is the correct order of cycle?
A. Ribulose-1, 5 bisphosphate
B. Reduction
C. Carboxylation
D. 3-phosphoglycerate
E. Regeneration
Choose the correct answer from the options given below :
1. ACDBE
2. ABCDE
3. AECGBD
4 B,ACDE

Options :
920906111753. 1



920906111754. 2
920906111755.3
920906111756. 4

Question Number : 39 Question Id : 92090628279 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hiead = & T=fdiEs w9ag = & -
(a) TegaE - 1, 5 fauwese

(B) #T=EA

(C) HrElwEe

(D) 3-FEhiferEE

(B) g

T feu U fa=real § § 98 39 =1 999 Hifaw
(1) (A), (C), (D), (B), (E)
(2) (A), (B), (C), (D), (E)
(3) (A), (E), (C), (B), (I)
(1) (B), (A}, (C), (D), (E)

Options :

920906111753. 1
920906111754. 2
920906111755. 3
920906111756. 4

Question Number : 40 Question Id : 92090628280 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—| : Climax communities maintain their mix of species for a long

time while successional communities are temporary.

Statement—Il :  Climax communities have variable biomass due to recycling

of nutrients and successional communities have constant
biomass.

In the light of the above statements, choose the most appropriate answer from
the options given below :

Options :

1.

B W N

Both Statement | and Statement |l are correct
Both Statement | and Statement Il are incorrect
Statement | is correct but Statement |l is incorrect

Statement | is incorrect but Statement Il is correct

920906111757. 1
920906111758. 2
920906111759. 3
920906111760. 4

Question Number : 40 Question Id : 92090628280 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1)
(2)
(3)
(4)

A 1 3 11 341 @&t 8
o 1 3 11 5 TTerd 2
wy [ adt 2, aifeh s 11 7o 2
%99 [ o 8, wifse Fua [ o8 2



Options :

920906111757. 1
920906111758. 2
920906111759. 3
920906111760. 4

Question Number : 41 Question Id : 92090628281 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The important requirement for agrobacterium mediated gene transfer in higher
plants are

1.  Agrobacterium cannot be preinduced with synthetic acetosyringone.

2. The induced agrobacteria should not have access to cells that are
competent for transformation.

3. Transformation competent cells/tissues should not be able to
regenerate into whole plants.

4. The explants must produce acetosyringone or other related
compounds for activation of vir genes

Options :

920906111761. 1
920906111762. 2
920906111763. 3
920906111764. 4

Question Number : 41 Question Id : 92090628281 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= 4ufi Urdl § ueEciEd Afsdds S SAFW %1 THE a6 -

(1) wEEiEs & FEm vEifaiEe @ g6 Sia 78 fea s @ 2

(2) A T JERHIA S aTell B 9% 7 96d 66|

(3) TERMIH HEFH HI9H1/Hdh T 919 & €9 T [Fegqd- - &l deh|
(4) YT % TFEIEARE vir 94 & ARV & UESEREE 37 SEiad ded s[g
Options :

920906111761. 1

920906111762. 2

920906111763. 3
920906111764. 4



Question Number : 42 Question Id : 92090628282 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is the problem associated with secondary metabolite production?

1.  Plant cells have a very long doubling time (16—24 hours) as compared
to microorganisms (approx. 1 hour).

2. If the production of secondary metabolites in the intact plant is
restricted to particular organ, then little production takes place in vitro
because cells in vitro are often non-differentiated.

3. Infections considerably limit the process and there is need of more
knowledge and awareness on bioreactors and fermentors.

4. All of the above

Options :

920906111765. 1
920906111766. 2
920906111767. 3
920906111768. 4

Question Number : 42 Question Id : 92090628282 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
feadaer IuTa==s 3caTeA | o HHEAT £ 7

(1) |IEd SRR H1 G &84 H (16-24 9ve) gamsiiea (1 =) $i v iaw
U T §

(2) 3fe 99 & et fawm 3w o fefras sud=ga &1 3aeq 2 8, 99 o ufifeafa o
FH 3Ieq1E BIT & T I R 9F: HAaHed el &

(3)  THEY AETEGAT SR I NG9S G £ IR SEiiuEel U9 WHee & fawa § wfas
T Ud AFTESAl i FEYIHAT 2|

(4)  IFIE J

Options :

920906111765. 1

920906111766. 2

920906111767. 3
920906111768. 4

Question Number : 43 Question Id : 92090628283 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The following is an advantage of micropropagation :

1.  Production of diseased plants

2.  Germplasm studies

3. Artificial media

4.  Production of disease free plants
Options :

920906111769. 1
920906111770. 2
920906111771. 3
920906111772. 4

Question Number : 43 Question Id : 92090628283 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&g ga4+ & Fr=ferfaa sy 2 -

(1) TR Gt 1 3eameA (2) SHZEAl I

(3) W Arem /g (4) T Hqem el 1 Ieare
Options :

920906111769. 1
920906111770. 2
920906111771. 3
920906111772. 4

Question Number : 44 Question Id : 92090628284 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Introduction of E. coli bacterial gene mtiD (mannitol-1-phosphate

dehydrogenase) in tobacco plants has been tested to provide _ resistance.
1. Drought
2.  Herbicide
3. Salt
4. High light density

Options :



920906111773. 1
920906111774. 2
920906111775. 3
920906111776. 4

Question Number : 44 Question Id : 92090628284 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

darE F g § %S fa = mt1D (mannitol-1-phosphate dehydrogenase) 3 Y391
| yfedty g 2 -

(1) Hq@ (2) TR
(3) U (4) Al gk diFan
Options :

920906111773. 1
920906111774. 2
920906111775. 3
920906111776. 4

Question Number : 45 Question Id : 92090628285 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The dried flower market has grown exponentially because

1. Consumers are not ecoconscious
2.  Dried flowers are not environment friendly alternative to fresh flowers
3.  Dry flowers require more resources for production.

4.  Dried flowers have prolonged shelf life as compared to fresh flowers.

Options :

920906111777. 1
920906111778. 2
920906111779. 3
920906111780. 4

Question Number : 45 Question Id : 92090628285 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I o1 %1 ST AT o § 9¢ @1 & el

(1)  I9ieT 937900 & 9fd Gdeauid 981 2l
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(3) H@ §ol 3G A H IUETHG AYF THET 7 2|
(4) 5 YT <! USRI 3T dTa Jo91 hl Huan Afus 2t 8
Options :

920906111777. 1

920906111778. 2

920906111779. 3
920906111780. 4

Question Number : 46 Question Id : 92090628286 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The following plant is commonly not used for topiary in India :
1.  Clerodendrum inerme
2. Bougainvillea
3. Murraya exotica

4. Rose

Options :

920906111781. 1
920906111782. 2
920906111783. 3
920906111784. 4

Question Number : 46 Question Id : 92090628286 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e § Frferfiaa dhen 2iftedt % fae wam 78 2 2 .-

(1) FussH 574 (2) @EerEr
(3)  Fir sFAeEH (4) Fearar
Options :

920906111781. 1
920906111782. 2



920906111783. 3
920906111784. 4

Question Number : 47 Question Id : 92090628287 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sauer Kraut is an important fermented vegetable product obtained from
by lactic acid fermentation.

1. Tomato
2.  Brinjal
3. Cauliflower

4. Cabbage

Options :

920906111785. 1
920906111786. 2
920906111787. 3
920906111788. 4

Question Number : 47 Question Id : 92090628287 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P s 8 -

(1) 2R (2) s
(3)  Formt (4) g
Options :

920906111785. 1
920906111786. 2
920906111787. 3
920906111788. 4

Question Number : 48 Question Id : 92090628288 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Drying of mango kernels and peel make a class animal feed.

1. Low

2. Medium

3. High

4. Verylow
Options :

920906111789. 1
920906111790. 2
920906111791. 3
920906111792. 4

Question Number : 48 Question Id : 92090628288 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
a1 ) Taelt vd foors i gEE w9 | Sft 1 93 SER d4R A 87

(1) F= (2) 7
3 = (1) =fg F=
Options :

920906111789. 1
920906111790. 2
920906111791. 3
920906111792. 4

Question Number : 49 Question Id : 92090628289 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Most of the fruits are low in proteins except the following contains 1 to 1.5%
protein :

1.  Mango
2.  Guava
3 Banana

4. Both guava and banana

Options :



920906111793. 1
920906111794. 2
920906111795. 3
920906111796. 4

Question Number : 49 Question Id : 92090628289 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SAfeaprerd: wert § WAt 7En 9 gt 81 g Feefafaa fea 8 1 3 1.5% 9 9 s
2 -

(1) 3m (2) 3IHEZ
(3) el (4) TH%E Ud el 2T
Options :

920906111793. 1
920906111794. 2
920906111795. 3
920906111796. 4

Question Number : 50 Question Id : 92090628290 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rose garden of Ludhiana is an example of following style of gardening :

1. Formal style

2.  Informal style

3. Free style

4. Geometric style
Options :

920906111797. 1
920906111798. 2
920906111799. 3
920906111800. 4

Question Number : 50 Question Id : 92090628290 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



wferar § feya e 3um frafafas § & #57 § 399 TR % g § -

(1) =i e (2) IH=ETES et
(3) T e (4) wEfoedr Sef
Options :

920906111797. 1
920906111798. 2
920906111799. 3
920906111800. 4

Question Number : 51 Question Id : 92090628291 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The term ‘Appertization’ is used for

1. Dehydration
2. Canning
3.  Sterilization

4. Freezing

Options :

920906111801. 1
920906111802. 2
920906111803. 3
920906111804. 4

Question Number : 51 Question Id : 92090628291 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frferfaa § @ watergsem weg =1 wam feaew fom #w # -

(1) Tt 2) femm=
(3) Ta=iiero (4) Tesfim
Options :

920906111801. 1
920906111802. 2
920906111803. 3
920906111804. 4



Question Number : 52 Question Id : 92090628292 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When pollination and fertilization occurs before anthesis, it is known as

1.  Homogamy

2. Chasmogamy

3. Dichogamy

4. Cleistogamy
Options :

920906111805. 1
920906111806. 2
920906111807. 3
920906111808. 4

Question Number : 52 Question Id : 92090628292 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o7 e 8 6 & W v e o B eR o e # -

(1) 93 (2) 3= T
(3) TiasemEad (4) AT T
Options :

920906111805. 1
920906111806. 2
920906111807. 3
920906111808. 4

Question Number : 53 Question Id : 92090628293 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) : Scalding enhances shelf life of vegetables by exposing them
to steam and then plunging them in cold water.

Reason (R) : Scalding inactivates the enzymes that cause browning and
drive out air from the tissues.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both (A)and (R) are correct and (R) is the correct explanation of (A)

2. Both (A)and (R) are correct but (R) is NOT the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A)is not correctbut (R) is correct

Options :

920906111809. 1
920906111810. 2
920906111811. 3
920906111812. 4

Question Number : 53 Question Id : 92090628293 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= @ % fou MU E v AMFUA (Assertion (A)) % &9 H fofga & 91 g0 39 HA0
(Reasons (R}}%;E‘:lﬁ:
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(3)  (A)"E E, i (R) 38 B

(4) (A) FEH 8, ol (R) T4 2

Options :
920906111809. 1



920906111810. 2
920906111811. 3
920906111812. 4

Question Number : 54 Question Id : 92090628294 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The various causes of postharvest losses of perishables are
Loss of moisture causing wilting/shrinkage

Loss of stored energy

Physical loss through pest and disease attack

Colour development

m o o o »

Greening

Choose the correct answer from the options given below :

1. Aand C only

2. A ,BandConly
3. A, B,CandD only
4. AB,CE

Options :

920906111813. 1
920906111814. 2
920906111815. 3
920906111816. 4

Question Number : 54 Question Id : 92090628294 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt searel ® qer 3w afs & Fefeafiaa o 2 -

A) 7 = e S g B
(B) wvETia et 1 &
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(1) %4 (A), (O)
(2)  FEA (A), (B), (C)
(3 & (A), B), (O), (D)
(1) FEE (A), B), (O), (E)
Options :
920906111813. 1
920906111814. 2

920906111815. 3
920906111816. 4

Question Number : 55 Question Id : 92090628295 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following food laws in chronological (ascending) order of their year
of formation :

Prevention of Food Adulteration Act
The Consumer Protection Act
Food Product Order

Cold Storage Order

m g e W e

Meat Product Order
Choose the correct answer from the options given below :

1. ADEBG

2 ACDEB

3. B,EDAC

4 C,A B ED
Options :

920906111817. 1
920906111818. 2
920906111819. 3
920906111820. 4

Question Number : 55 Question Id : 92090628295 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(A) @ srafuge Ty sfufiam
(B)  JANIRT SEOT HA
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(B) wi9 3608 3159

H= feu U faeredi § & |8 39 % 999 Fifsu

(1) (A), @), (B), (B), (C)
(2) (A, (O), (D), (E). (B)
(@) (B), (E), (D), (A), (C)
(@) (O, (A), (B), (E), (D)

Options :

920906111817. 1
920906111818. 2
920906111819. 3
920906111820. 4

Question Number : 56 Question Id : 92090628296 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statements—| : In lye peeling, fruit is passed through 1 to 2% dilute lye
solution (NaOH, KOH etc.) to 100 °C to 120 °C. This process
softens skin which is removed by high pressure water sprays.

Statements—I| : Abrasion, flame and flash steam are also different forms of
peeling.

In the light of the above statements, choose the correct answer from the options
given below :

; Both Statement | and Statement |l are true
Both Statement | and Statement |l are false

Statement | is true but Statement Il is false

. B M

Statement | is false but Statement Il is true

Options :



920906111821. 1
920906111822. 2
920906111823. 3
920906111824. 4

Question Number : 56 Question Id : 92090628296 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= & %o fgg o E
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(2)  FYF 13T [1THT Teid &
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Options :

920906111821 1

920906111822 2

920906111823. 3
920906111824. 4

Question Number : 57 Question Id : 92090628297 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statements—| : A corm is an underground stem with a short fleshy vertical
axis with dried leaf bases.

Statements—Il : Anthuriums are valued for beautiful bracts.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement Il is incorrect

4. Statement | is incorrect but Statement Il is correct
Options :

920906111825. 1
920906111826. 2
920906111827. 3
920906111828. 4

Question Number : 57 Question Id : 92090628297 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= 3 Fo g e &

FYH 1 :  Eee UF dftra o 8 e g Een seatm wig g fe sum afea goit ot
&t 21

FYA I1:  UYfem = 99 375 G2 T 5 00 2|
ITE FU9 F A |, T o e feredt § @ wed ugw 3w = 9w fife

(1) = 1 38R 113+ g8 3

(2) =y [ 3 1131 o &

(3) wud g8t 8, e e 11 7o &
(4) YA 1 7Tera 2, oifehd e 118t 2
Options :

920906111825. 1
920906111826. 2



920906111827. 3
920906111828. 4

Question Number : 58 Question Id : 92090628298 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statements—| : An axis may be straight, bending or deflected in landscaping.

Statements—I| : Direct, curvilinear, looping and divergent are different
circulation patterns in landscaping.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is true but Statement |l is false

4. Statement | is false but Statement Il is true
Options :

920906111829. 1
920906111830. 2
920906111831. 3
920906111832. 4

Question Number : 58 Question Id : 92090628298 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= g1 =y feg e

FUA1:  EEiE § 579 @t 594 o fagrdt @ w2

FYA 11:  HI, TheE!, T9H TN FTEE e & G Jamenl Jioed &l

ITU FYA &+ A J, T v w fawen 9 # 5 I % =59 Fifev

(1) 99 [ 3R IIgH 99 &
(2) Y 13 (1 5H 759 &
(3) Y 159 8, oifehd S [ 3199 2
(1) HE 13EA B, A 9 [ 99 8



Options :

920906111829. 1
920906111830. 2
920906111831. 3
920906111832. 4

Question Number : 59 Question Id : 92090628299 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List=I with List=Il :

List—I List—II
(A) | Leaf (1) | Inhibitor of ethylene biosynthesis
(B) | AVG (Il) | Delay leaf senescence
(C) | Cytokinins (I11) | Internode elongation
(D) GA3 (IV) | Perception site of photoperiodic stimulus

Choose the correct option from those given below :
1. (A1) (B)=(I); (C)=(IIl); (D)}(IV)
2. (A(I); (BY(IV); (C)=(ln); (D)
3. (AHIV): (B)=(1): (C)=(1); (D)—(li)
4. (AR(IV): (B)=(I); (C)(1): (D)=(1)

Options :

920906111833. 1
920906111834. 2
920906111835. 3
920906111836. 4

Question Number : 59 Question Id : 92090628299 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 w19 1 ge-11 e $ifsw

o= l-1 HH=I-11
(A) o (I) suTSef i 39 Fyeiwm =1 ey
(B) w i, (II) wfeat it agraeen =1 e
(C) HTEeHEAA (IIT) FA=TIE g
(D) sfteu.-3 (IV) Sifterrer 35Uk 1 IHE9S T

fr= feu mu faweal ° o w8 39 =1 =994 Hifsu .

(1) (A)-(ID), (B)-(D, (C)-(IV), (D)-(I1L)
(2)  (A)-(II), (B)-(II), (C)-(IV), (D)-(D)
(3)  (A)-(IV), (B)-(D), (C)-(II), (D)-(11I)
(4)  (A)-(II), (B)-(IV), (C)-(1I), (D)-(I)

Options :

920906111833. 1

920906111834. 2

920906111835. 3

920906111836. 4

Question Number : 60 Question Id : 92090628300 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List—I with List—Il :

List-I List—II
(A) | Japanese gardens (I) | Tuscan gardens
(B) | Mughal gardens (I1) | Chahar Bagh
(C) | ltalian gardens (1) | Hill gardens
(D) | Persian gardens (IV) | Baradari

Choose the correct answer from the options given below :
1. (AR (B)HI); (CH(); (D)(1V)
2. (A (B)-(IV); (C)=(1); (D)-(1)
3. (A(I); (B)-(IV); (C)(II1); (D))

4. (A-(IV): (B)=(I): (C)=(1): (D)-(1)
Options :



920906111837. 1
920906111838. 2
920906111839. 3
920906111840. 4

Question Number : 60 Question Id : 92090628300 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1% Ty 1 Fg=-11 e Fifsw .
g1 g=-11
(A) ITfe == ) T I
(B) et 3 (1) =TET =
(C) seferm 3o {11) fe=t 3=
(D) ufifEs = (IV) s
= fou o fomedi | ® @6 3w =999 Fifdu

(1) (A)-(D), (B)-(ITD), (C)(ID), (D)-(IV)
(2)  (A)-IID), (B)-(IV), (O)-(D), (D)-(ID)
(3)  (A)-(ID), (B)-(IV). (C)-(I1D), (D)-(T)
(4)  (A)-(IV), (B)-(ID), (C)~(D), (D)-(I1D)

Options :

920906111837. 1
920906111838. 2
920906111839. 3
920906111840. 4

Question Number : 61 Question Id : 92090628301 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—| with List—II :

List— List—II
(A) | Crystallization of jelly (I) | 0-5-0-6%
(B) | Acidity in jam (I1) | Due to moulds

(C) | Browning of marmalade (1Y | 0-5-1-0%

(D) | Pectin in jelly (IV) | Due to excess of sugar

Choose the correct answer from the options given below :
1. (A1) (B)=(lI); (CH(IV); (D)1)
2. (A=) (B)-(1): (C)-(IV); (D)~(1l)
3. (AIV), (B)=(1); (C)(l1); (D)l

4. (A(IV); (B)=(lll); (C)=(I1); (D))
Options :

920906111841. 1

920906111842. 2

920906111843. 3

920906111844. 4

Question Number : 61 Question Id : 92090628301 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-1 % |19 &1 gEI-11 foem il
H=i-1 T=i-11
(A) il § TR M 0.5-0.6%
(B) <9 H 37 (I) Wies (FEG) & HA
(C) TTeis H yaae (I1T) 0.5-1.0%
(D) ieft § fFes (IV) <=1 1 3ATaeha1 & HA0

e feu o fa=edl 4 9 5 I w1 =59 Fifaw

(1)  (A)-AD, (B)-(I1D, (C)-AV), (D)-(D)
(2) (M-I, (B)-(0), (C)-(IV), (D)-(111)
(3)  (A)-(IV), (B)-(I), (C)-(ID), (D)-(111)
(4)  (A)-(IV), (B)-(III), (C)-(11), (D)-(I)

Options :



920906111841. 1
920906111842. 2
920906111843. 3
920906111844. 4

Question Number : 62 Question Id : 92090628302 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A suitable magnification in light microscope is

1. 520X

2. 540X

3. 10-20X

4. 1040X
Options :

920906111845. 1
920906111846. 2
920906111847. 3
920906111848. 4

Question Number : 62 Question Id : 92090628302 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

geRTeita qewesll § Sugad e 2 o

(1) 5-20X 2) 5-40X

(3) 10-20X (4) 10-40X
Options :

920906111845. 1
920906111846. 2
920906111847. 3
920906111848. 4

Question Number : 63 Question Id : 92090628303 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In haematoxylin and eosin staining, haematoxylin stains the nucleus and all RNA
a dark blue or purple colour while eosin stain proteins and pancreatic secretory
granules a bright colour.

1. Red green
2.  Pink blue

3. Orange blue
4. Orange pink

Options :

920906111849. 1
920906111850. 2
920906111851. 3
920906111852. 4

Question Number : 63 Question Id : 92090628303 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BHCIATEoE TF SAIE AR o, gHcaEior | T114e UF HIE 3R T T T8 e =@
ST U1 H ARG B g SEie $AIHE AEH UF TR ST iR sl Sl

T a1
ol 8 -

(1) el &1 (2) T[Tt el

(3) AT - e (4) AT - T
Options :

920906111849. 1
920906111850. 2
920906111851. 3
920906111852. 4

Question Number : 64 Question Id : 92090628304 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The front lens of a compound microscope is known as
1. Focal lens
2. Image lens
3. Objective
4.  Eyepiece
Options :
920906111853. 1
920906111854. 2

920906111855. 3
920906111856. 4

Question Number : 64 Question Id : 92090628304 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T HeACHT & R & o9 Dl FT HEd B 7

(1) HrEhel o (2) wfafém o
(3) Al (4) AAf
Options :

920906111853. 1
920906111854. 2
920906111855. 3
920906111856. 4

Question Number : 65 Question Id : 92090628305 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statements—I| : National Bureau of Plant Genetic Resources (NBPGR). New
Delhi is nodal agency for providing import permit of plant
germplasm for research purpose.

Statements—Il : Mational Bureau of Animal Genetic Resources is located at
Karnal (Haryana).

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement Il is false

4. Statement | is false but Statement Il is true

Options :

920906111857. 1
920906111858. 2
920906111859. 3
920906111860. 4

Question Number : 65 Question Id : 92090628305 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e g A fqu T g
w1 TP WIeH A Er o, 98 gl Wy #q e S g AW 3gEid
TF I H i A1S TAHT &

FU [1: T 93] IS G689 &0, HEe (3@mn) 5 fm 2
ITF HUH o e °, A= fou mu fawedt © & 98 I3 =1 599 Fifaw :

(1) &Y [ 3 11gH 99 8
(2) YA [ 3 1A 315F &
(3) U 1 EF B, T Y 11 39 8
(4) Y [ 37EA g, ofhA HeE 15 8

Options :

920906111857. 1
920906111858. 2
920906111859. 3
920906111860. 4



Question Number : 66 Question Id : 92090628306 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fruits of lettuce is botanically known as

1. Siliqua

2. Bermry

3. Achene

4. Drupe
Options :

920906111861. 1
920906111862. 2
920906111863. 3
920906111864. 4

Question Number : 66 Question Id : 92090628306 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AZH % Hel 1 AEdfah AW T a7

(1) fafaspen 2) =f

(3) THH (4) o
Options :

920906111861. 1
920906111862. 2
920906111863. 3
920906111864. 4

Question Number : 67 Question Id : 92090628307 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct statements :

A.
B.

Fruits occupy the maximum area among all horticultural crops in India.

Total area under vegetable crops in India is approximately 10-0 million
hectare.

Total cut flower production in India during 2018-19 was 3-90 million tons

Total area under horticultural crops in India is approximately 25-0 million
hectare

Choose the most appropriate answer from the options given below :

1. B, CandD only
2. A BandDonly
3. A BandConly
4. A, CandDonly

Options :

920906111865. 1
920906111866. 2
920906111867. 3
920906111868. 4

Question Number : 67 Question Id : 92090628307 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 0 & 9 91 9799 94 &

(A) 9Nd i IAS A § Bel Gad ATaH &% H IC 91 2l

(B) uRa § e 10.0 Tuferm g9 dawe § weslt i wHal &1 Icaed & 2l
(C) 2018-19 H 9@ | 3.9 faform o7 + 790 1 Fa1 I 8371

(D) 9RA § I wae Fa 25.0 fafem g gawa 0 Img wrdt 81

e feu o fawedi O @ w1 I %1 999 Hifau

(1) %ad (B), (C) 3R (D)

(2)  Had (A), (B) 3 (D) -

(3) HEA (A), (B) 3R (C)

(4) = (A), (C) 31 (D)
Options :

920906111865. 1



920906111866. 2
920906111867. 3
920906111868. 4

Question Number : 68 Question Id : 92090628308 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Parthenocarpic auxins fruit development has been reported
by the application of which also affect fruit setting and fruit
development auxins.

Reason (R) : Auxins bring about maximum change in carbohydrate fraction
of the fruits some fundamental dislocation in nitrogen
metabolism has also been reported.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is NOT the correct explanation
of (A)

3.  (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

920906111869. 1
920906111870. 2
920906111871. 3
920906111872. 4

Question Number : 68 Question Id : 92090628308 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= g %o fou T E : T AUHUF (Assertion (A)) % ¥ H fefga & a1 gE0 366 RO
{Reasons (R)) HETH ;

FEHYA (A) m{peach)ﬁm%mmﬁmﬁﬁ{m}ﬁ
o wifora 2 3R 98 %o e v9 e fas i warfea e 2

F (R) HifFa Sl § gad 31U FEEEse § a0 Har 21 F9 WY e
399= § Ioid: (Fundamental) foems i yomfoE &l 21

I Y9 & AT °, {= fou 1 fawedt 7 9 98 I & =999 Fifan

(1)  (A) 3R (R) 341 59 € 3 (R), (A) $i |t =am= 8
(2)  (A) IR (R)THI §F &, @i (R), (A) 1 F& =me 78 8
(3)  (A)THF B, i (R) 31859 2
(4)  (A) 78 &, w1 (R) T4 &
Options :
920906111869. 1
920906111870. 2

920906111871. 3
920906111872. 4

Question Number : 69 Question Id : 92090628309 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : A population in which individuals exhibit paired values is
known as bivariate population or a bivariate universe.

Reason (R) : Among the paired variates, one is the cause and the other is
the effect and therefore, changes in one are responsible for
changes in the other.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is NOT the correct explanation
of (A)

3. (A)istrue but (R) is false
4. (A)is false but (R) is true

Options :



920906111873. 1
920906111874. 2
920906111875. 3
920906111876. 4

Question Number : 69 Question Id : 92090628309 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= gt A for M0 § : uF ARHUA (Assertion (A)) % w9 § fafEd 8 @ g0 3696 SR
(Reasonsz (R)) HETH ;

Ay (A):  UH SHeEn foed wfed e a%q Sie ¥ qed Weiva wedl 8, 39
FEATEe SEE A1 ArgaiEe IHEd Fed 2

FA (R) : I 99 § H UH HA0 3R GHT IS B & AL 36 HA9 H TH H G0
<AL § o uitEdq #1 guifed a2l

9T FYF & AT °, 7= fou 7 fSedi 9 O 98 I w7 =999 Fifee

(1)  (A) 3R (R) ST 97 & 3 (R), (A) T TE =m=n &
(2)  (A) 3R (R) THI &4 &, Tl (R), (A) i el = 98 8
(3) (AT 2, ofhT (R) 39 2
(1)  (A) 35F &, dfe (R) T 2
Options :
920906111873. 1
920906111874, 2

920906111875. 3
920906111876. 4

Question Number : 70 Question Id : 92090628310 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following sentences are correct?

A. A food chain is a series of organisms occupying different trophic levels
through which energy passes as a result of one organism consuming
another.

B. When several food chains overlap and intersect they make up a food
level.

C. Biogeochemical cycle activities are involved in cycling of atoms including
biological, geological and chemical processes.

D. Carbon and oxygen combine to form the molecule carbon dioxide (CO 5 )

which is present in small guantities as a gas in the atmosphere and
dissolved in water.

E. About 20% of photosynthetic activity takes place in the oceans.
Choose the correct answer from the options given below :

1. AandB only

2. A, B, andC only
3. A, B,CandD only
4. A,DE

Options :

920906111877. 1
920906111878. 2
920906111879. 3
920906111880. 4

Question Number : 70 Question Id : 92090628310 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frferfiga 7 @ =1 a9 w8 8 -

(A) @@ F@e (Food chain) fafim 91t 1 & Sial %1 4 & T9w8 S91 0F 9 % g0

T W G@H § TR st 2l

(B) @ % @ @AY UH g W H A & 30X Hedl & a9 &= 91 (food web)
fmfor &ram 21

(C) SRS = TaTea] WHUET & Thie § Hoid & a9 dAfdw, Yo
3R TEEHF (Chemical) HishaT e £

(D) hEA AT TR e Fea 35 AieeEs & FEw = £ 9 F 9w 1§ g
w9 § 3eq TE1 § IUEdd 3R e § el 8 2l

(E) WehI9l HI9UT o1 FTHT 20% WP HEMETH (Oceans) § BT 21

+r= fer o faew # © T 3O %1 994 St
(1)  =hdd (A) 3T (B)

(2) EE (A), (B), (O)

(3)  =ad (A), (B), (C), (D)

(4)  =ad (A), (D), (E)

Options :

920906111877. 1
920906111878. 2
920906111879. 3
920906111880. 4

Question Number : 71 Question Id : 92090628311 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct order of steps for conventional RFLP analysis :
A. Digestion with restriction enzyme and fractionation on an agarose gel
B. Genomic DNA isolation

C. DNA transferred out of the gel onto a membrane filter (radioactive labelling
and incubation with cloned probe) and allowed for hybridization

D. DNA in millions of restriction fragments fractionated in the gel by molecular
weight

E. RFLP pattern with positive bands
Choose the correct answer from the options given below :
1. A/B,D,C,E
2. B,ADGE
3 G,BADE
4. D.B,ACE

Options :

920906111881. 1
920906111882. 2
920906111883. 3
920906111884. 4

Question Number : 71 Question Id : 92090628311 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&g Y9I RFLP faveimu & @€ e =aw & -

(A) iEE e ¥ TESYE UE W o W 9HEE

(B) I €1 U T ggE

(C) €1 U ¥ "et HeH et W wuHEiE w6 (feafdea safen) it == g9
H $HYEIA T EEHeEeEE i ol

(D) REl FgFH % DNA &1 A0fas YR % 3991 9d °§ Haame=

(E) RFLP e uifafea svg & @1

= feu o fa=edi § & w3 =1 =99 Sifsu

(1) (A), (B), (D), (C), (E)
2)  (B), (A), (D), (C), (E)
(3)  (C), (B). (A), (D), (E)
(4) (D), (B), (A), (C), (E)
Options :
920906111881. 1
920906111882. 2
920906111883. 3
920906111884. 4

Question Number : 72 Question Id : 92090628312 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List—I with List-II :

List-I List—II

(A) | Mahua () | Olea europaea

(B) | Elephant foot yam (Il) | Lablab purpureus

(C) | Dolichos bean (ll) | Bassia latifolia

(D) | Olive (V) | Amorphophallus paeoniifolius

Choose the correct option from those given below :
1T (AHIV): (B)=(I); (C)=(1); (D}-(1)
(A)=(II1); (B}-(1V); (C)—(I1); (D))
(A)(II); (B}-(IV); (C)(1): (D)~(I1)
(A)=(IV); (B)=(l1); (C)-(11); (D))

= o M



Options :

920906111885. 1
920906111886. 2
920906111887. 3
920906111888. 4

Question Number : 72 Question Id : 92090628312 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-1 % a1 &1 gi-11 faem Sifaw .
= I-1 -1
(A) wEI (n el
B) THfire= (I) ecs TeEE
(C) &9 (II1) s eidmifern
(D) S@d (IV) FChiberE fEsfogs

+re feu v fawedi § @ w8 I 1 =999 Hifu

(1) (A)-(D, (B)-(I), (C)-(D), (D)-(T)
(2)  (A)-(D), (B)-(I), (C)-(), (D)-(T)
(3) (A, (B)-(D), (C)-(I), (D)-(T)
(4)  (A)-(D), (B)-(I), (C)-(I), (D)-(T)

Options :

920906111885. 1
920906111886. 2
920906111887. 3
920906111888. 4

Question Number : 73 Question Id : 92090628313 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Make pairs of the microbes below in List-l with the organic acids produced by
them at industrial level in List-lI :

List— List-lI
(A) | Aspergillus niger (I) | Butyric acid
(B) | Acetobacter aceti (11) | Citric acid
(C) | Clostridium butylicum () | Acetic acid
(D) | Lactobacillus sp. (IV) | Lactic acid

Choose the correct answer from the options given below :
1. (A1) (B (C)=(1); (D)-(1V)
2. (A1) (B)y=(11); (CH(1); (D}-(IV)
3. (A(IN); (B}(1), (C)(1); (D)-(1V)

4. (A(IV): (B)=(ID): (C)=(1l); (D)(1)

Options :

920906111889. 1
920906111890. 2
920906111891. 3
920906111892. 4

Question Number : 73 Question Id : 92090628313 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



get-1% = 1 g=h-11 e $ifsw

fFrafifigs gawshtal =1 B F6ifis sodll % s semea # 3wim @ @ 3% gifem
ifsm)

g1 g1
(A) TERfTeTE FIE () =gemsie 3
(B) whElFT oers (I) @Tsigeh 37wt
(C) Forgilegq oersiciad (1) vfafes ama
(D) &TeidfEeT o (IV) @iffes s/
T fou T foredi & & @t 3 = =39 ife

(1) @-D. (B)-(1), (O)-11D), (D)-AV)
(2)  A)-aD, B)-(1I), (C)-(D, (D)-AV)
(3) (M-I, (B)-(ID), (C)-(I), (D)-(IV)
(4)  (A)-V), B)-(ID, (C)-(I1D), (D)-(I)

Options :

920906111889. 1
920906111890. 2
920906111891. 3
920906111892. 4

Question Number : 74 Question Id : 92090628314 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match  the  horticultural crop with its corresponding  maturity
index :

List—I List—II
(A) | Banana (I} | Flattening of eyes
(B) | Pineapple () | Hollow sound produced on tapping fruit
(C) | Watermelon (I11) | Disappearance of angularity
(D) | Muskmelon (IV) | Netting

Choose the correct answer from the options given below :

1. (A1) (B)=(II): (C)~(II); (D}=(IV)

2. (A1) (B)-(): (C)-(llt); (D)~(IV)

3. (A (B)-(1): (C)=(Il); (D}(IV)

4. (A(V): B)=(II): (C)=(Il); (D)~(1)
Options :

920906111893. 1
920906111894. 2
920906111895. 3
920906111896. 4

Question Number : 74 Question Id : 92090628314 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 % @ &1 g1 frers Hifs .
Tl Gk & YR W I Bedl i gafera hifae

A1 11
(A) el () =it@ $r wefm
(B) M (I % Fi 2 w @rEd «af 2
(C) (IIT) THRAfedt =1 g
(SRITaT =T T E4T)
(D) T (Iv) Afén
fra fou mu et & @ @t s = === fifo

(1) (A)-D, (B)-(1I), (C)-(I1I), (D)-(IV)
2)  (A)-ID, (B)-(I), (C)-(III), (D)-AV)
(3) (A)-(I1I), (B)-(I), (C)-(1L), (D)-(IV)
(4)  (A)-(IV), (B)-(ID), (C)-(I1D), (D)-(I)

Options :

920906111893. 1
920906111894. 2
920906111895. 3
920906111896. 4

Question Number : 75 Question Id : 92090628315 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—I| with List=II :

List- List-l

(A) | Valleriana jatamansi (1) | Slips

(B) | Chlorophytum arundinaceum | (ll) | Root suckers

(C) | Pogostemon cablin (1) | Dormant plants as propagule

(D) | Cymbopogon martinii (IV) | Shoot tip cuttings

Choose the correct option from those given below :

1. (A1) B)(II); (C)(Il); (D)-(V)
2. (AN(I); (B)=(IIN): (C)-(IV); (D)~(1)
3. (Al BY-(IV); (C)-(1Il); (D))
4. (A-(I); B-(V); (C)-(l1); (D)
Options :

920906111897. 1
920906111898. 2
920906111899. 3
920906111900. 4

Question Number : 75 Question Id : 92090628315 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-1 o 19 1 FHI-11 e Fifaw
=11 HHI-11
(A) elfEH SemE () T
(B) TEIRIGEEH THSHEIH (I) HeT I9
(C) TRTRLHA Fafe (IIT) Yasd &q 9gA 19
(D) Tom=e Awfe (IV) wig iy

e few v fawedi § 9w I &1 =599 Hifau

(1) (A)-(D), (B)-(ID), (C)-(I1T), (D)-(IV)
(2)  (A)-ID), (B)-(I), (C)-(IV), (D)-(I1I)
(3)  (A)-(IID), (B)-(I), (C)-(1I), (D)-(IV)
(4)  (A)-(IV), (B)-(I1I), (C)-(II), (D)-(I)

Options :



920906111897. 1
920906111898. 2
920906111899. 3
920906111900. 4

Question Number : 76 Question Id : 92090628316 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below is the procedure for jam preparation Identify current order of
operations from options below :

A.  Sorting and washing
B. Cooking
C. Peeling and pulping
D. Judging of end point by drop test/sheet test/refractometer
E. Addition of sugar and pectin
Choose the correct answer from the options given below :
. ABGCED
2. AC,BED
3 ABCDE
4. A/CB,DE

Options :

920906111901. 1
920906111902. 2
920906111903. 3
920906111904. 4

Question Number : 76 Question Id : 92090628316 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



39 7 i gt ufsen F Fafefas = 21 s ot o e

(A) Bl 3R 9

(B) WM

(C) Tt samar ot e fere

(D) @ty fig Y giu 2% [ ofie o | fdbaddier grr st &
(E) =it wa ufFes =t fimmn

+r= fou o faedi & @ @ s w3 Fifo

(1) (A, B). (), (E), (D)
(2) (A, (C). (B), (E), (D)
(3 Q). (B, (), (D), (E)
4) (A, (C), (B), (D), (E)

Options :

920906111901. 1
920906111902. 2
920906111903. 3
920906111904. 4

Question Number : 77 Question Id : 92090628317 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following steps in micro propagation in the correct sequence :
A. Explant selection from plant

Insertion of explant in MS medium

Sterilization

Shoot proliferation and root growth

m o o m

Hardening and acclimatization
Choose the correct answer from the options given below :

1. ACBD.E

2. A/BCDE

3. B,ACDE

4 C,A,D,BE
Options :

920906111905. 1
920906111906. 2
920906111907. 3
920906111908. 4

Question Number : 77 Question Id : 92090628317 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gew yadq oty 4 f=fafaa = &) e ad @9 70 27

(A) 19 H uFEwAe (Fdias) F F54

(B) UH UH HieaH § Fdideh i w410 FET

(C) Tt

(D) N T T e

(B) wrsfin vd ufacmessve (FSreo & qugser)

= fou o frsedi | @ wdt 3o o = fifsw
(1)  (A), (C), (B), (D), (E)
(2) (A, (B), (O), (D), (E)
(3)  (B), (A), (C). (D), (E)
(4)  (C), (A), (D), (B), (E)

Options :

920906111905. 1
920906111906. 2
920906111907. 3
920906111908. 4

Question Number : 78 Question Id : 92090628318 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are correct?

A.  Deficiency of proteins retards growth of children and causes colour
loss of skin and hair

Deficiency of vitamin E causes sterility
Deficiency of vitamin C causes scurvy and bleeding in gums

Deficiency of vitamin D causes rickets and dental diseases

mo o ®

Deficiency of vitamin B1 causes pellagra
Choose the most appropriate answer from the options given below :

1. AandB only

2. A B,andC only

3. A B,C, Donly

4. A C,DE
Options :

920906111909. 1
920906111910. 2
920906111911. 3
920906111912. 4

Question Number : 78 Question Id : 92090628318 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fr=feifas & & =9 8 %Y T8 § -

(A) TR # FH T H fGEE Feeg Fdl 8 IR == wE 9 TEH 8@ A 2
(B) To=ifm= E =i &=t 9 s9an 2t 21

() famifm ¢ &t #fi F wwdl 2t 2 3R 9ggl O a9and g 2|

(D) foaaifim D et @ Tehem 30T <a O B 2

(B) faaif= B1 & =t & domn oiad ardt 21

Fr feu o fammedl 9 ¥ wEd 39 W 1 99 S
(1) hdd (A) T (B)
(2)  @ad (A), (B), (O)
(3)  =had (A), (B), (C), (D)
(4)  =ad (A), (C), (D), (E)
Options :
920906111909. 1
920906111910. 2

920906111911. 3
920906111912. 4

Question Number : 79 Question Id : 92090628319 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are correct?

A.  Uttar Pradesh and West Bengal are leading vegetable producing
states of India

B. Fresh fruits and vegetables have share of nearly 55% in total exprt of
horticulture crops from India

C. Alphonso and Kesar are promising mango varieties

D. The flowers and seeds have nearly 7% share in total exprt of
horticultural produce from India

E. The share of processed fruits and vegetables is nearly 15% in exprt
of horticultural produce from India

Choose the most appropriate answer from the options given below :
1. AandB only

A, B, C only

A, B, C, D only

B N

A CDE

Options :

920906111913. 1
920906111914. 2
920906111915. 3
920906111916. 4

Question Number : 79 Question Id : 92090628319 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



freafafaa § @ #9198 w7 wé § -

(A)
(B)
(C)
(D)
(E)

I WS UE uivem Siel Wi § |feadl & weifis Scues 9oy B

yrd ¥ It 3cues & Fo Tt & aon v va wfseat 1 9w 55% (SEEEa:) 2
ST T FEL AW i Iean garfear 2

WRd d o Iaifeht Icure &% Fata d gai v ofiw = afefifiea 7% (smEme:) 2
i § Fenfaeht 3curg % Fafa § yaesfa wal v afesgt & 9m 15% (sEEma:) 2

Tt fau o faredi ° & wa# 39gF I F1 =74 fif

(1)

(4)

*ad (A) T (B)

*a (A), (B), (C)
Fad (A), (B), (C), (D)
Fae (A), (C), (D), (B)

Options :

920906111913. 1
920906111914. 2
920906111915. 3
920906111916. 4

Question Number : 80 Question Id : 92090628320 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are correct statements?
A. Kale and Brussels sprouts belong to Cole crops.

B. Truck gardens produce special crops in large qualities for close
markets.

C. Floating garden is seen in Dal Lake of Kashmir Valley.

D. The winter or cool season vegetables are those of which the
vegetative parts-roots stems, leaves, buds or immature flowers are
eaten.

E. The optimum monthly average temperature for growing corrot, and
couliflower is 15-17 °C.

Choose the most appropriate answer from the options given below :

1. AGCDE
2. A, B,C,Donly
3. A,B,Conly
4. AandB only

Options :

920906111917. 1

920906111918. 2

920906111919. 3
920906111920. 4

Question Number : 80 Question Id : 92090628320 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafafaa 5 9 =69 =1 w97 781 8 -

(A) el 99T wHed T3¢ Tl =i wuel & 9

(B) ¢ @R & IF=d AG ST § HATas AET § 99N wEa 994 & v 3
Fd &

(C) FHR a6l § 3 $e H o §U &M 2

(D) 39 g =i dfeaai 98 & T 1ias 9 - Fg, 1, T Hierehl I1 9T 759
T F1d &

(E) TR U9 %el Y I % foTu waiiyes 39gead 3itEd aeme 15-17°C 81

= feu o fael § § gEE 39g IO H 994 S
(1)  =ad (A), (0), (D), (E)
(2) A (A), (B). (O), (D)
(3) HId (A), (B), (O)
(4) %A (A)TE (B)
Options :
920906111917. 1
920906111918. 2

920906111919. 3
920906111920. 4

Question Number : 81 Question Id : 92090628321 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are correct?

A. Cytochromes are iron containing proteins (Porphyrins), three of
which exist in chloroplasts and function in electron transport system.

B. Cymose is a type of inflorescence where the growth of main stem is
definite and the lateral branches grow more vigorously than the
terminal ones giving plant a dome shaped appearance.

C. The modified atmosphere storage and controlled atmosphere
storage differ only in degree of control and CA is more exact.

D. Allopolyploid contains identical set of chromosomes derived from
one species.

E. Blossoming in the month of February to March as seen in citrus,
guava and pomegranate is known as Ambebahar.

Choose the most appropriate answer from the options given below :

1. A,BConly

2. A B, C,Donly

3. A B, C Eonly

4. AB,C,DE
Options :

920906111921. 1
920906111922. 2
920906111923. 3
920906111924. 4

Question Number : 81 Question Id : 92090628321 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fr=foafigs & & =7 ¥ 53 98 &7

(A) WM U@ e E (TEHR) T o g 8, T @ R s 1 R g
£ 3N e =E § i G )

(B) WIEHI U YR o1 qo0RT & fEd qen a4 & faem difta g 2 3 smand s
&1 & AU d | Fedl 8 3N TEeTH HHR <l 2|

(C) ufafda @ (MA) e Faf=a amE (cA) 0 FE= & = 8§ 39 2T 2 3N
i © (cA) s3mer fafume 21

(D) TEEIE & § U & W1d 8 Sead G99 A B &

(E) wEdl & 9 | g 9fid Bedl, 30EE U9 IR H Yo HI Hd 987 HaEd 2

e feu o faseql @ © wE 39 1 999 Hifaw -

(1) =EE (A), (B), (O)

(2) %99 (A), (B), (0), (D)

(3) == (A), (B), (). (E)

(4) = (A), (B), (C), (D), (E)

Options :

920906111921. 1

920906111922. 2

920906111923. 3
920906111924. 4

Question Number : 82 Question Id : 92090628322 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Transgenic is one of the most recent example where genes of antigenic
proteins of many deadly disease causing pathogens have been expressed in this
fruit and is efficient as edible vaccine.

1. Mango

2. Banana

3. Guava

4. Pineapple
Options :

920906111925. 1
920906111926. 2
920906111927. 3
920906111928. 4



Question Number : 82 Question Id : 92090628322 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FACEICE S § gd AR IR el 6t afost TR % S afira 2 o 3=
g A9 F UF FA=D] e 2|

(1) ™ (2) el

(3) HAHER (1) IEEHE

Options :

920906111925. 1
920906111926. 2
920906111927. 3
920906111928. 4

Question Number : 83 Question Id : 92090628323 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statements are correct?
A. The two important groups of Lilium are Oriental and Asiatic.

B. Important genera of orchids native to India are Aerides, Cymbidium,
Vanda Rhynchostylis, etc.

C. Alstroemeria species have their origin in South American continent in
Chile and Brazil.

D. Rose is also known as Transvaal daisy, Barberton daisy and African
daisy.

E. Amaranthus is short day plant and Gomphrena is day neutral plant.
Choose the most appropriate answer from the options given below :

1.  AandB only

2. A B,Conly

3. A B,C,Donly

4. AB.CE
Options :

920906111929. 1
920906111930. 2



920906111931. 3
920906111932. 4

Question Number : 83 Question Id : 92090628323 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fraferfiad 4 @ #1984 99 H9el 7 -

(A) faferem = 31 veel g sifEed v o 2

(B) Yoia: WRd § HAfhe o Hawaqui au §| vigy, fHefifezm, dver, fememsfag sanfe)
(C)  sATexgmiEn wifa 6t Ieafa gfe smfes o faeft v anfia 3 2

(D) T[ETE %I ZHEATA S A1 WEEH Sl HYET IThIHA 251 A9 § o FE=1 S 2
(E) 3TUH U 370 TaHEe ] 9T 8 37 TR v feae T dtan 21

= feu o fameql § § T8 39g I 1 =TI HIAC -
(1)  ae (A) 3T (B)
(2)  %ad (A), (B). (C)
(3)  Fad (A), (B), (C), (D)
(4) A (A), (B), (C), (E)
Options :
920906111929. 1
920906111930. 2

920906111931. 3
920906111932. 4

Question Number : 84 Question Id : 92090628324 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

is used as a substrate for the production of biodegradable plastic.

1.  Polyhydroxy ether

2. Polyhydroxy acetate

3. Polyhydroxy butyrate

4.  Polyhydroxy terephthalate
Options :

920906111933. 1
920906111934. 2



920906111935. 3
920906111936. 4

Question Number : 84 Question Id : 92090628324 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I safed wnfees & 3eed + fou U e E -
(1) oicfersgi 2R
(2) diciEEgmH i
(3) dicfiEdgi sese
(4) wicierégrf Hivdee
Options :

920906111933. 1
920906111934. 2
920906111935. 3
920906111936. 4

Question Number : 85 Question Id : 92090628325 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Commensalism is a type of symbiotic relationship in which

1. One organism lives in or on another organism and derives
nourishment

2. One organism is benefitted while other is not affected
3. Both the species involved are benefitted

4.  Both the species are not benefitted

Options :

920906111937. 1
920906111938. 2
920906111939. 3
920906111940. 4

Question Number : 85 Question Id : 92090628325 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



eI U YR &I Gesidl gay & 5

(1) U 9 g8t Sf1d ® FW I1 FGL &l & AL 9991 o g2
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(3) <l & SfiEl %1 e g 8l

(4) I I T TE E

Options :

920906111937. 1
920906111938. 2
920906111939. 3
920906111940. 4

Question Number : 86 Question Id : 92090628326 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements is incorrect?

1.  Speciation is the production of new species from previously existing
species.

2.  Extinction is the loss of an entire species and is a common feature of
the evolution of organism.

3.  Coevolution is the concept that two or more species of organisms can
reciprocally influence the evolutionary direction of the other.

4. The concept of a species is not a population concept.

Options :

920906111941. 1
920906111942. 2
920906111943. 3
920906111944. 4

Question Number : 86 Question Id : 92090628326 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frfeafiga o o =0 @ sy 8 78 8 -

(1) e 3gwEA Tee & Sufes snfa & 78 snfa & saafs =t %ad 2
(2) ol wfa i afa @1 faeea @ Sfat it e afm 6 s 2)

(3 @ foem ww fem ? % sman @ o sfts ol o1 e o= @t ==t o
yreafie w9 # g9t wid & v fwm i e =5 o)

(4) =i =1 FoEm v SHEE faEn A 2

Options :

920906111941. 1
920906111942. 2
920906111943. 3
920906111944. 4

Question Number : 87 Question Id : 92090628327 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following options is most appropriate?

1.  The habitat of an organism is the space that the organism inhabits,
the place where it lives (its address)

2.  The niche of an organism is the functional role it has in the
surroundings (its profession)

3. Both (1) and (2) are correct

4. Option (1) is correct but option (2) is wrong

Options :

920906111945. 1
920906111946. 2
920906111947. 3
920906111948. 4

Question Number : 87 Question Id : 92090628327 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e g B i e fa e )

(1) U Sid &1 A9 98 T9F & 8 98 &l 2

(2) Uk AT F1 FARAR (niche) T8 ThEtcrs Yigs & o 98 39 @ 9 F FraEa §
foramen 21 (SHe =aaam)

(3) oo (1) @ (2) w6 B
(4) Frwew (1) wét 2 iR fased (2) e 21

Options :

920906111945. 1
920906111946. 2
920906111947. 3
920906111948. 4

Question Number : 88 Question Id : 92090628328 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements is incorrect?
1.  Passion fruit is a day neutral plant
2. Custard apple is an aggregate fruit i.e., etaerio of berries
3. Banana and orange are drought sensitive
4. Dioecy is found in papaya and date palm

Options :

920906111949. 1
920906111950. 2
920906111951. 3
920906111952. 4

Question Number : 88 Question Id : 92090628328 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
920906111949. 1
920906111950. 2

920906111951. 3
920906111952. 4

Question Number : 89 Question Id : 92090628329 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following options is most appropriate?

1. Reduction in root growth due to phosphorus deficiency has been
reported for most of the fruit plants

2.  Morphological expressions of potassium deficiency exhibited by fruit
plant is the loss of apical dominance of both aerial and subaerial parts

3. Excess Fe in the soil dose not pose a threat to the uptake of Cu and
vice versa

4. Options 1 and 2 are correct.

Options :

920906111953. 1
920906111954. 2
920906111955. 3
920906111956. 4

Question Number : 89 Question Id : 92090628329 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fr=ferfiga 4 & = @1 fawes gatfus sugsa 2 -

(1) w F&it & e i w4 F Fwn o fawm 1 wf g w2

@ urfirm f =6 F Fnw smEiREy sfefF v 8 | R ey # fad ¥ -
T vF IraEEE g o s gt i

(3) W& # e 9 fit sfuwa 99 F g F fou aww T8 2 o i yERr a= Hi
sferRan <itg + g o g T6 2

(4) B ()T (2) =@ R

Options :

920906111953. 1
920906111954. 2
920906111955. 3
920906111956. 4

Question Number : 90 Question Id : 92090628330 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is incorrect?
1.  Apple (Malus domestica Borkh) X = 17
2n = 34, 51, 68, 85
2. Peach (Prunus persica (L) Batsch), X =8, 2n =16
3.  Apricot (Prunus cerasus), X = 16, 2n = 32

4.  Almond (Prunus amygdalus Batsch), X =8, 2n = 16

Options :

920906111957. 1
920906111958. 2
920906111959. 3
920906111960. 4

Question Number : 90 Question Id : 92090628330 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(2) g (F79 W&H Batsch), X =8, 2n = 16

(3) I (§7F FTEFX = 16, 2n = 32

(4) EW (J7F HHETSe7d Batsch) X = 8, 2n = 16

Options :

920906111957. 1
920906111958. 2
920906111959. 3
920906111960. 4

Question Number : 91 Question Id : 92090628331 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements is incorrect?
1. Mango is highly cross pollinated crop.

2. The flower bud differentiation of mango in India occurs between
October and December.

3.  The phenomenon of irregular bearing or biennial bearing is observed
in mango.

4. In Dashehari, foliar application of urea (20 percent) and Naphthalene
Acetic acid 500 ppm or 2, 4 -D @ 100 ppm is beneficial in controlling
fruit drop.

Options :

920906111961. 1
920906111962. 2
920906111963. 3
920906111964. 4

Question Number : 91 Question Id : 92090628331 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906111961. 1
920906111962. 2
920906111963. 3
920906111964. 4

Question Number : 92 Question Id : 92090628332 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements is incorrect?

1. Papaya is a tropical plant and is normally propagated from seed all
over the world.

2. Pusa Seedless is a Seedless variety of grape resembling Thompson
Seedless, Sultania or Oval Kishmish.

3. Manuring and irrigation are not important in litchi cultivation.
4.  Fig is generally propagated by hardwood cuttings all over the world.

Options :

920906111965. 1
920906111966. 2
920906111967. 3
920906111968. 4

Question Number : 92 Question Id : 92090628332 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906111965. 1
920906111966. 2
920906111967. 3
920906111968. 4

Question Number : 93 Question Id : 92090628333 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Multi stem training is practised in

1.  Mango
2. Pomegranate
3. Litchi
4. Bael
Options :

920906111969. 1
920906111970. 2
920906111971. 3
920906111972. 4

Question Number : 93 Question Id : 92090628333 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906111969. 1
920906111970. 2
920906111971. 3
920906111972. 4

Question Number : 94 Question Id : 92090628334 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statements is correct?
1.  All tomato cultivars are of determinate type.

2.  Sweet pepper is sensitive to environmental factors for flowering and
fruiting

3. Seed production in cauliflower and cabbage can be done in Gangetic
plains without any difficulty

4. Potato is a root tuber vegetable.

Options :

920906111973. 1
920906111974. 2
920906111975. 3
920906111976. 4

Question Number : 94 Question Id : 92090628334 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906111973. 1
920906111974. 2
920906111975. 3
920906111976. 4

Question Number : 95 Question Id : 92090628335 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statements is correct?

1. The upright pyramid of biomass in forest ecosystem is carnivores-
herbivores-producers.

2. The upright pyramid of biomass in forest ecosystem is herbivores-
producers-carnivores.

3. The upright pyramid of numbers of grassland ecosystem is producer-
herbivores-secondary consumers-carnivores.

4. The upright pyramid of numbers of grassland ecosystem is
herbivores-carnivores-producers-secondary consumers.

Options :

920906111977. 1
920906111978. 2
920906111979. 3
920906111980. 4

Question Number : 95 Question Id : 92090628335 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906111977. 1



920906111978. 2
920906111979. 3
920906111980. 4

Question Number : 96 Question Id : 92090628336 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statements is incorrect?

1.  Central Food Technological Research Institute (CFTRI) is located at
Mysore, Karnataka.

2. Central Institute of Postharvest Engineering and Technology is
located at Ludhiana, Punjab.

3. Indian Institute of Vegetable Research is located at Varanasi (Uttar
Pradesh).

4. National Research Centre for Orchids is located at Pasighat
(Arunachal Pradesh).

Options :

920906111981. 1
920906111982. 2
920906111983. 3
920906111984. 4

Question Number : 96 Question Id : 92090628336 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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920906111981. 1
920906111982. 2

920906111983. 3
920906111984. 4



Question Number : 97 Question Id : 92090628337 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The rhizosphere effect may be influenced by the following factors (please mark
appropriate option) :

1.  The rhizosphere organisms are more when soil moisture is low.

2. Rhizosphere effect increases with the increasing distance between
rhizosphere and soil microbes.

3. In legume rhizosphere increase in number of bacteria is over
hundred times as compared to non-legumes.

4. Option 1 and 3 are correct

Options :

920906111985. 1
920906111986. 2
920906111987. 3
920906111988. 4

Question Number : 97 Question Id : 92090628337 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906111985. 1
920906111986. 2
920906111987. 3
920906111988. 4

Question Number : 98 Question Id : 92090628338 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements is incorrect?

1. Steam and dry sterilization, flame sterilization filter sterilization,
alcohol sterilization and ultraviolet sterilization are different
sterilization methods.

2.  Cryopreservation has the usage of liquid nitrogen (-196 “C).
3. Isozyme is molecular marker

4. Auxins and cytokinins are two main classes of growth regulators used
in plant tissues culture.

Options :

920906111989. 1
920906111990. 2
920906111991. 3
920906111992. 4

Question Number : 98 Question Id : 92090628338 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906111989. 1

920906111990. 2

920906111991. 3

920906111992. 4

Question Number : 99 Question Id : 92090628339 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements is incorrect?
1. Nature in miniature is a theme of Mughal gardens.

2. Vasantika, Birbal Sahni are small flower producing varieties of
chrysanthemum.

3. Standing water in the form of lakes is main feature of Japanese
gardens.

4. Zinnia, Kochia, Portulaca are summer season annuals.

Options :

920906111993. 1
920906111994. 2
920906111995. 3
920906111996. 4

Question Number : 99 Question Id : 92090628339 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906111993. 1
920906111994. 2
920906111995. 3
920906111996. 4

Question Number : 100 Question Id : 92090628340 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Total soluble solids (°Brix) is measured by

1. Lactometer

2.  Hydrometer
3. Hand refractometer
4. Gelmeter

Options :

920906111997. 1
920906111998. 2
920906111999. 3
920906112000. 4

Question Number : 100 Question Id : 92090628340 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906111997. 1
920906111998. 2
920906111999. 3
920906112000. 4



